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Direction: Read the following questions carefully and choose the right answer.

1. If the length of a rectangle is increased by 25% and the breadth is reduced by 33.33%
then what will be the effect on its diagonal(approximately)?

A.7.6% B. 8.33% C. 6% D.7.33% E. No Change

2. If the area of square is 256 cm?® and the breadth of rectangle is 20% more and the
length is 50% more than the side of the square, then find the ratio of area of square to
the area of rectangle.

A.4:5 B.3:4 C.3:7 D.5:9 E.4:9
3. The perimeter of rectangle of length 2 (x + 3) cm and breadth 2 (x + 1) cm is double the
perimeter of a square of area 225 cm®. Find the area of rectangle.

A. 728 cm? B. 896 cm” C. 1024 cm? D. 1156 cm? E. 1596 cm’

4. P and Q are running on the circumference of two concentric circles, the radius of
larger circle is half of the circumference of inner circle. P runs on larger and Q on
smaller circle and both complete a round in same time. If both of them run on the
larger circle P will beat Q by 75m when they run in the same direction, what is the
circumference of the larger circle?

A.145m B. 165 m C.110 m D.225m E. None of these
5. The difference between the area of a circle and the area of the rectangle is 394.94

cm?. If the length of rectangle is 25% more and breadth is 10% less than the radius of
the circle, then find the perimeter of the rectangle? (Take nt = 3.14)

A.70.14 cm B.66.2 cm C.60.2cm D. 75.02 cm E.62.2 cm

6. The length of a rectangle, area of which is 126 cm?, is equal to the radius of a circle of
area 616 cm®. What is the perimeter of the rectangle?

A.42 cm B.54 cm C.46 cm D.52 cm E. None of these




1. A track of width 1.5 m is made along the inside edge of a rectangular park of
dimensions 50 m and 35 m. What is the total cost of laying bricks on the track at the
rate of Rs 125 per 10m*?

A. Rs. 3005 B. Rs. 3075 C.Rs. 3250 D. Rs. 3450 E. None of these

8. The shortest distance between two opposite corners of a rectangular park is 68
metres, while the ratio of the length to the breadth of the park is 15 : 8, respectively.
Find the difference between the cost of fencing boundary of the park at the rate of Rs.
12/metre and cost of sodding the park at the rate of Rs. 2/metre’.

A.Rs. 1768 B. Rs. 1240 C. Rs. 1852 D. Rs. 1632 E. None of these

9. The sum of perimeter of a rectangle (R) and a square (S) is 210 cm. If the length and
breadth of rectangle (R) is 40% more and 20% less than the side of square(S), what is
the length of diagonal of rectangle (R)?

A. 40V5 cm B. 5V65 cm C.4v35cm D. 25V2 cm E. 16v30cm

10. Perimeter of a rectangle is x cm and circumference of a circle is (x + 8) cm. The length
of the rectangle is cm. The ratio of the radius of the circle and the length of the
rectangle is 1 : 2 and ratio of length and breadth of the rectangle is 7 : 3.

A.28 B. 21 C.24.5 D. 17.5 E. None of these

11. A jeweler wants to build a 1250 square meters rectangular jewellery shop. Since she
has only 100 m spiky wire, she barbed only three sides of the jewellery shop letting
her home wall acting as the remaining side of the shop. Find the dimension of the
jewellery shop where the spiky wires are being used?

A.25mx12.5m B.50 mx25m C.30mx30m D.40mx25m E. None of these

12. Some number of solid metallic right circular cones radius of which is equal to the side
of the square which area is 9 cm” and height is 100% more than the inradius of that
square are melted to form a solid sphere of radius 6 cm. find the number of right
circular cones is required.

A. 64 B. 36 C. 27 D. 32 E. None of these

13. Find the height of equilateral triangle if its area is 36v3 m*?

A.8V3m B.5V3m C.4v3m D.6V3m E.7Vv3m




14. The perimeter of a square field is 8cm more than the perimeter of a rectangle. The
length of the rectangle is 51 cm which is 300% of its width. If a street of width 10 cm
surrounds from outside the square, then find the total cost of constructing the street
at the rate of Rs. 25 per sq. cm?

A. Rs. 45,000 B. Rs. 45,500 C. Rs. 46,000 D. Rs. 46,500 E. None of these

15. The ratio of the breadth to the length of a rectangular field is 1 : 3. The total cost of
cutting the grass of the field at the rate of Rs 6 per m” is Rs. 8712. Find the cost of
fencing the boundary of the field at the rate of Rs. 11 per m.

A.Rs. 7216 B. Rs. 3268 C.Rs. 2024 D. Rs. 1936 E. Rs. 2058

16. The area of a square is 28 sq. cm more than the area of a rectangle of length 14 cm
and breadth 12 cm. What will be the area of incircle of the square?

A. 162 sg. cm. B. 154 sg. cm. C. 132 sg.cm. D. 160 sg. cm. E. None of these

17. The ratio of area of a rectangle to that of a square is 3 : 5. If the perimeter of the
square is 100 cm then what can be the perimeter of the rectangle if the breadth of the
rectangle is 66.67% more than that of length?

A.75cm B. 80 cm C.85cm D.65cm E. None of these

18. A rectangular floor of length 80 cm and width 60 cm was fully covered with equal size
square tiles of sides 4 cm. If the price of one such tile is Rs. 15 then total how much
money will be required to cover the floor with tiles?

A. Rs. 4500 B. Rs. 6000 C. Rs. 3000 D. Rs. 7500 E. None of these

19. The area of a rectangle is one — third of the area of a circle and the length of the
rectangle is equal to the diameter of the circle. If the breadth of the rectangle is 11 cm,
then what is the perimeter of the rectangle?

A. 60 cm B. 64 cm C.36cm D. 58 cm E. None of these

20. A cuboid of dimensions 15 m x 20 m x 18 m was painted from inside as well as outside
at the rate of 5 paisa per sq. m. If the cuboid was made of metal of negligible thickness
then how much money will be required (In Rupees) to paint the cuboid for inside as
well as outside?

A. 9300 B.93 C. 186 D. 18600 E. None of these




21. The perimeter of two squares fields are 480 cm and 720 cm respectively. The area of a
rectangular field is equal to the difference between the areas of these two square fields.
The breadth of the rectangular field is 60 cm. How much money the owner of the
rectangular field will spend for putting a fence around it at the rate of Rs. 5 per cm?

A.Rs 7200 B. Rs 8400 C. Rs 3600 D. Rs 9000 E. None of these

22. In a parallelogram shaped field, one of its side is 15 meters and the length of the
perpendicular distance between the opposite sides is 16 m. In the field, if wheat seeds
were to sow at the rate of Rs. 15 per sq. meter, then how much money will be needed
to sow wheat seeds in the field?

A. Rs. 1800 B. Rs. 3600 C. Rs. 2700 D. Rs. 4200 E. None of these

23. A small slice from a circular shaped pizza of diameter 21 cm and thickness 4 cm was
cut. If the small slice makes an angle of 30 degree at the centre of the pizza then what
was the total volume (in cm®) of the remaining part of the pizza?

A. 1460.5 B.1270.5 C.1320.5 D. 1120 E. None of these

24. The height of a cylindrical shaped wood is 15 cm less than its circumference of the
base and the curved surface area is 154 cm2 , then what is the volume (in cm3) of the
cylinder shaped wood?

A. 289.5 B. 269.5 C. 462 D. 462.5 E. None of these

25. The ratio of length to breadth of a rectangular shaped room is 3 : 4. The length of
longest pole that can be placed on the floor of the room is 25 cm. What will be the
total cost of cementing the floor of the room at the rate of Rs. 5 per sq. cm?

A.Rs. 1200 B. Rs. 1500 C. Rs. 960 D. Rs. 1800 E. None of these

26. Sum of the volume of a cylinder and a cone is 2190t cm2. The radius of both cylinder
and cone is same i.e., 10 cm. If the height of cone is 15 cm, then find the ratio of
height of cylinder to height of cone?

173 169 156 191 213

" 152 " 150 ' 149 "136 "135

27. The breadth of a rectangular field is 80% of its length. Area of square is six times of
breadth of the rectangle. If the ratio of Area of Rectangle to Perimeter of Square is 15 :
1, then what will be the length of rectangle ?

A. 30 B. 60 C.25 D. 20 E. None of these




28. A triangular field has to be fenced with iron wire. The cost of fencing is Rs.15 per
meter. If the sum of lengths of two of the three sides of the triangular field is 25
meters, then which of the following cannot be the cost of fencing the field?

A.Rs. 425 B. Rs. 675 C.Rs. 725 D. Rs. 800 E.Rs. 575
29. ‘Jameen’ is a rectangle piece of purposed construction site of a Mohalla ground in
Patna. The ratio of the square of the perimeter of ‘Jameen’ and the sum of the squares

of the diagonals of ‘Jameen’ is 98 : 25. Find the ratio of the sum of the adjacent sides
of ‘Jameen’ and difference of adjacent sides of ‘Jameen’.

A7:1 B.5:2 C.3:4 D.2:1 E. None of these
30. Area of a circle is 616 cm’ breadth of Rectangle is half than the radius of the Circle. The

length of rectangle is 37.5% of the perimeter of Rectangle. If the side of a square is
double the length of rectangle, then find the area of square.

A. 1764 cm’ B. 441 cm’ C. 2401 cm’ D. 1225 cm’ E. None of these

31. The area of rectangle and its perimeter are in ratio of 3 : 1. Perimeter of square side of
which is 50% less than the length of rectangle is 20 cm. Find the breadth of rectangle.

A.12 cm B. 15 cm C.10cm D.20cm E.25cm

32. Afloor is covered with rectangular tiles of perimeter 84cm and length and breadth of

the tile is in the ratio 4 : 3. The cost of polishing the floor at the rate of 40paise per cm?
is Rs. 51840. How many tiles are there on the floor?

A. 280 B. 300 C. 240 D. 350 E. 320
33. The length and breadth of a rectangle are in the ratio 5 : 4. The length of the rectangle

is equal to the slant height of a cone of height 48 cm and base perimeter 88 cm. What
is the area (in cm?) of the rectangle?

A. 2250 B. 1800 C. 2040 D. 2000 E. None of these

34. A solid cone of maximum volume is cut out from a solid cylinder of radius 21 cm and
height 15 cm, what is the volume (in cm?) of the remaining solid portion?

A. 11260 B. 13860 C. 13420 D. 14280 E. 12960

35. A rectangular sheet of aluminum is rolled to make the curved surface of a can. The

volume of the can is 770 cm® and the cost of aluminum sheet is Rs 308. If the rate of

aluminum is 70 paisa per cm> what is the diameter of the can?
A.3.5cm B.10.5cm C.5cm D.7cm E. None of these




36. A tent has a cylindrical base and conical top. The height of tent is 61 m and that of
cylindrical portion is 40 m the radius of tent is 28 m. What is the total area of cloth
required to make the tent?

A. 10450 m? B. 12540 m? C. 10120 m? D. 9750 m? E. 7260 m?

37. Length of a rectangle is twice the breadth. If area of such a rectangle is halved without
changing the breadth, then the ratio of older to newer perimeter of the rectangle is:

A.1:3 B.2:3 C.3:2 D.3:1 E. None of these

38. In a rectangle with length 6 cm more than breadth, a circle of maximum area is
shaded. The difference between the area of shaded and non-shaded portion is
126¢cm®. What is the perimeter of the rectangle?

A. 64 cm B.52 cm C.68 cm D. 74 cm E. None of these

39. The area of a rhombus shaped garden is 200vV3 square meter. The acute angle formed
by the two sides of the rhombus is 60 degree. What will be the cost of making a half
meter high boundary around the garden if the cost of making boundary per square
meter be Rs. 148?

A.Rs. 5140 B. Rs. 8088 C. Rs. 5920 D. Rs. 11508 E. None of these
40. A square pyramid of height 5 m is attached to the top face of the cubical box of side 8

meters, such that the pyramid exactly covers the top face of the cubical box. Find the
visible surface area of the combined structure excluding the base of the cubical box

A.4(64+V41)m®> B.2(256+V39)m? C.16(16+Vv41)m> D.4(32+v39)m?  E.None of these
41. The radius of a cylindrical tank is 3 m less than the radius of a conical tank. Total time
taken to fill water in cylindrical tank and in conical tank at 54 m3 per second and 66

m3 are 297 seconds and 144 seconds, respectively. If the height of the cylindrical tank
is same as the height of the conical tank then find the height of the each tank

A.315m B.63m C.525m D.42m E. None of these
42. Acircleis inscribed in a square of side 48 cm. Find the area of the remaining portion of
the square which is not enclosed by the circle?

A. 465.715 cm? B. 439.715 cm? C. 493.715 cm? D. 433.715 cm? E. None of these




43. A solid metal cylinder of 10cm height and 14cm diameter is melted and recast into
two cones in the proportion 3 : 4 (volume), keeping the height 10cm. What would be
the percentage change in the surface area before and after?

A. 40% B. 45% C.55% D. 50% E. None of these

44. The area of a triangle is 12/13™ of the area of a rectangle whose sides satisfy the
quadratic equation 2p* — 43p + 221 = 0 and the base of the given triangle is 17 cm. If
the side of a square is equal to the height of the given triangle, then what will be the
perimeter of the square?

A.36cm B.40 cm C.44 cm D. 48 cm E. None of these

45. The radius of cone is 10 cm. The ratio of curved surface area and the total surface area
of cone is 4 : 5. Find the slant height of the cone.

A.30cm B.40 cm C.35cm D.42cm E.25cm
46. A park is in the shape of right-angled triangle. If the sides (in meter) of that right-

angled triangle are three consecutive integers. Find the cost of sowing flower seeds in
the park at the rate of Rs. 25 per sq. m?

A.Rs. 150 B. Rs. 125 C. Rs. 300 D. Rs. 250 E. Can't be determined

47. The area of a circular plot is 5544 sq. cm. If the diagonal of a square is equal to the
radius of the circular plot then find the difference between the area of square and the
area of circular field?

A. 4662 sg.cm B. 1764 sq. cm C.37805sg.cm D. 882 sg.cm E. None of these

48. 30 oxen can plough a rectangular field of 300 meters long and 400 meters wide in 12
days. How many days will 30 oxen take to plough a square field, the sides of which is
equal to the diagonal of the rectangular field?

A. 20 days B. 25 days C. 30 days D. 25.75 days E. None of these
49. The area of a rectangle of sides 14 cm and 22 cm is equal to the area of a circle. If the

diameter of the circle is 50% less than the side of a square then find the area of the
square?

A. 1568 cm? B. 1548 cm? C. 1268 cm? D. 1248 cm?* E. None of these




50.

A.198

Find the number of largest possible square slabs which can be paved on the floor of 3

m 24 cm long and 8 m 28 cm broad?

B. 204 C. 207 D.184
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1.

I 3T T dJFES 25% T & Y 3R IS 33.33% FH X & JA o 3TF AT
W SR FIT JAAAT TG EM?

7.6% B. 8.33% C. 6% D. 7.33% E. I3 dGold gl

Ife et &1 afathel 256 TI@AT § 3R a9 &1 $fom @ IFd A Wi 20% IS § 3R
odTS 50% 3R &, ol 997 & &1ahel 3R I & &iFhel &1 Ul AT HITSAT|

4 5 B.3:4 C.3:7 D.5:9 E.4:9

2 (x + 3) O oas 3R 2 (x + 1) A TR arel AT T IRAT 225 FIHAT TR
aﬁaﬁ@rmﬁa@%lalqdwﬁwﬂdeI

728 FaaHT B. 896 gaTasY C. 1024 T&T@#& Y D. 1156 g3 @#T E. 1596 g<iasr

P 3R Q & dhfad ool T aRIT @ oo W@ &, 99 oo & AT HARS god HT IR
dr 3mel @1 P 8¢ 3R Q 93 god W FoIdT ¢ 3R 2kl T & THI & Teh Tl TI A
¢l I Al 93 ged W T & of P, Q # 75 HY § g &I, ST 4 TH @ fGar A
als?, ar 93 ded @1 gRF & gefr?

145 #Y B. 165 #r C. 110 Y D. 225 #HY E. 38 O FIs g

T Jod & &1F%el AR AT & &Fhel & T # FR 394.94 F@AM g1 I gea &
ﬁ?znﬁgmmﬁ}nqdﬁdqléZS%m%sﬂTﬁglém%W%,aTma@rw
AT ™? @F n = 3.14)

70.14 &Y B. 66.2 @AY C. 60.2 @& D. 75.02 &#r E. 62.2 @Y

Teh I HT daTg, Todepr &l 126 oAl §, 616 FIGHT &9l & Ueh god I e
& ST g1 3mad Hr gRfEr =T 22

42 A B. 54 QT C. 46 @AY D. 52 @Y E. 378 & g agT|

1.5 #Hiex d@lss &1 T ¢ 508X 3R 35 HeX AT & IAATHR 91 & el fhal W
ST AT §1 125 F9 9 10 qodiey H e F & W T WO H Fe oA F24r §?

Rs. 3005 B. Rs. 3075 C. Rs. 3250 D. Rs. 3450 E. 378 & g gr|




8. U IR U & & faulid &lel & ot & da8 BIr gt 68 #HieX 8, Sfafeh ardh iy ofars 3R
SIS o1 3eTUTCT ShAT: 15: 8 1 12 TUT/HIET I &I A UTeh T FAT 9 HIAT ofamT=) &l ofrered 3R 2
FUT/TINHICT T &3 T UTeh Sl Tehet Shl ST oh oI 37} ST IdT I9TT |

A. Rs. 1768 B. Rs. 1240 C. Rs. 1852 D. Rs. 1632 E. 598 & &5 aT|

9. U 3 (R) 3R T Fav (S) Fr gk &7 2191 210 A §1 I 3T (R) Y Fe1s 3R 1S T3 (S) Y
8TSTT & 40% 3TEh 3 20% A &, oY 3MAC (R) & TAHT T oS FaAT

A. 40V5 T#HT B. 5V65 d&T C. 435 @+ D. 25V2 @ E. 16V30 @Y

10. T e 1 IR x A § 3R Ueh e BT aRTE (x + 8) QAT & | AT Y ofars _ QT &1 oo T
T3 3 3TTrel B olalTg o1 37Tl 1: 2 & 3R 3T T ofaTs 3R THSTS T eI 7: 38|

A. 28 B. 21 C. 245 D. 17.5 E. 375 & g arl

11. T SdoR 1250 91 HIST T HIARR SdeRT AT SeATelT ATgaT & | Hfeh 38eh I shael 100 HIeX HieaR
dR &, 391 SAoRY 2ATT & FHadl dlel fhallR U HIeER Al oT9MT 3T 319e) EX &l E1aR ot AT o AT 79T &
T H T A DI AT SIS ATT & 37TATH T IdT oTINT STgT Sl dRY ST 3T AT ST IET 82

A. 257 x 12581 B. 508 x 258t C. 30 x 30#t D. 40# x 2587 E. 98 & g il

12.  go 319 urfeas od gl o foaveht Fraam aot &1 7o & Sra 8 3R gl 7 a1t 9 Feiaar § 31K
T T FTS T T eI fFeaT I Jelell H 100% 3T § 3R 31T 1 6 A AT arell T 31
Il STt oh ToTT TUEeRT STl & | 317 Y fehclel ofel il Qieh ohl HEdT hi 3TaRIhll |

A. 64 B. 36 C. 27 D. 32 E. 398 & &g darl

13. Wﬁ@ﬁhﬁmﬁﬁcaﬁmﬁwaewm%‘?
A. 8V3 &Y B. 5v3 & C. 4V3 &Y D. 6v3 #r E. 7¥3 &
14. U TEeR &7 ST aRF e 3raa Hr gk & 8 JT 3170 &1 3maa $r ae1s 51 T § 3R e

T13TS T 300% & | AT ATEX 10 Y TISTS Y Uk TS IR &1 F TTUET §, df 25 T Tf gar Jir
T X @ Hseh & FHTOT & el SlTaTel 7T i ?

A. Rs. 45,000 B. Rs. 45,500 C. Rs. 46,000 D. Rs. 46,500 E. 308 & &I5 18Tl




15. U AIATHR &1 T TISTS 3R SIaTg 1 HeIUTel 1: 3 8| Wl I °TH T 6 9 Uil gaT HieT i e & et
ohY el SITaTcl 8712 TU ¢ | &1 ohl AT 9T 11 T9 Yick HIeT Y X A §18 SIMed T oA19Tel ATl HITST|

A. Rs. 7216 B. Rs. 3268 C. Rs. 2024 D. Rs. 1936 E. Rs. 2058

16. T T §1T%a 14 THT a8 3R 12 T s & 3T & 9% & 28 T Jr 31+ g
g9 & Iod: Jod P ST AT GEM?

A. 162 T T AT B. 154 @ d&T  C. 132 g&T @& D. 160 &7 I  E. 3dH § FIs Agi|

17. w& 31ad 3R @@ & &Fhel $T U 3 : 5 g1 IS T # gR@A™ 100 a4 § 3R Il
I $T IS FTS & Hhlao 66.67% HTEH § of A I GRATT FAT 8T Fehell §7?

A. 75 9 B. 80 @Y C. 85 @Y D. 65 @& E. 398 & &5 50|

18. 80 @HT g 3R 60 [T e I TH IAAHR Hag A U AWE ¥ 4 A F SR
IR TSed & HY HhaR fohar a1 ATl I Uk eqgel HT HAT 15 F0F gl dd Fel
TR TSl & ATY TAg &l FaX A & fAv fohder 39 anfgu?

A. Rs. 4500 B. Rs. 6000 C. Rs. 3000 D. Rs. 7500 E. S5 & FI5 75T

19. 3Id &1 ST Uh Jod & &TBol H T TGS & 3N AT AT oF«1S ged & TH &
&) g1 FfE 3maa & disE 11 a0 §, ar 3maa S gk Far §2

A. 60 IFY B. 64 T C. 36 @#r D. 58 a&r E. 38 ¥ FIg 151
20. 15 #Hex x 20 #Hex x 18 HeX HAHAT HI Teh FATH 3eX F 3R X ¥ 5 37 gfa aof

ey & T A {7 AT ARG GAH AT AR’S & Ui W TN A7 A 3} AR "y @
I & v g Wi & fav fohder 37 (393 A) Fr 3maederar gref?

A. 9300 B. 93 C. 186 D. 18600 E.Sﬂﬁ@aﬁéﬂﬁl
21. o ToeR #AeeT & gk Faen 480 @#Y 3k 720 A &1 IIAR AT FT AFTHA ST a
FIePR HelT & &TFhall & & R & SR gl IFASR Hed Fr dlss 60 T gl

IR Helel HI Alfeled fohcdel 87 @I M, Fafch 5 ¥ 9fd TAT AT X T 304 IR AR
S AT 872

A. Rs 7200 B. Rs 8400 C. Rs 3600 D. Rs 9000 E. 378 & g gr|




22. FAGICR IJHS HHR & Td A, SHHN Th oo 15 e iR A9l ogan3it & g daad
gl 1 ieTg 16 A &1 WA A, I AE F N 15 397 @91 / A A X &1d ¥ A, Wd
H g & IS 91 & AU v §9F T TR grei?

A. Rs. 1800 B. Rs. 3600 C. Rs. 2700 D. Rs. 4200 E. 398 & g sl

23. 21 QA =T F AMAHR HHR dred s & T Bier A1 TohsT AR 4 & Aes FT FreT
IRT AT| IiE BIET ThsT TWooll & g W 30 33l &1 Ao §=rar & ar Woo & A9 awr &t
Pol AT (Fe° #) Far ur?

A. 1460.5 B. 1270.5 C. 13205 D. 1120 E. 398 & &g arl

24. SR TR HI ofhsl &l 35 MR S IR & 15 @ & § 3R dhyss 1 &HTho
154 g1 THAT g, JololhR 3R HT oThal &l HAdT (TaT TAT H) FIT 872

A. 289.5 B. 269.5 C. 462 D. 462.5 E. 375 & g dAarl

25. TH AR FA H odls R IS HT IFAT 3 : 4 Bl FR & doT W W S ared
e o T@FE T oas 25 AT g1 PR & oo A 5 9 9fg g9 A i 7 § diFe

Fel P el AETd FAT gefr?

A. Rs. 1200 B. Rs. 1500 C. Rs. 960 D. Rs. 1800 E. 395 & g arl

26. Uw oIS 3N TS A & A HT T 2190n TG §| eIy 3R o A=t B B
AT § A 10 Qo 1§ Ife o AT Fars 15 QA B, o Rels A1 Fag 3R A
SIS T 379 AT HL?

173 169 156 191 213
" 152 " 150 " 149 " 136 " 135

27. U FAGER &F H ASE sHHT oaS H 80% ¥l G FH AFh HIT H TS F g
AT 1 TG A & STl 3N @@ A IR H7 3eqara 15: 1§, a6 30T B F«rs a2
grafr?

A. 30 B. 60 C. 25 D. 20 E. 378 & g gr|




28. T TARUNT HHT W dllg & dR T BT EIT gl BRT @l T oerd 15 398 9fa #Hiex
g1 Ife Bl e & A9 galt & & o Hr das F1 A 25 Hex g, O Fe=faf@a &
T i 1 AT O T I dRTd FAet 87 JohdTl g7

A. Rs. 425 B. Rs. 675 C. Rs. 725 D. Rs. 800 E. Rs. 575

29. ‘Jameen' Ycel & Uk Hged & Halel & HAT T & INIT HT TohsT &1 'Jameen'
aRfer & @ef 3R ‘Jameen' & fawoll & @af & AT 1 I 98 : 25 g1 ‘Jameen' &
3=l g&ll & AT 3R 'Jameen' & 3wl U&H & AR I AT AT H|

A 71 B.5:2 C.3:4 D.2: 1 E. 345 ¥ FIg 151
30. TH Jod &I &Fhel 616 T/ &1 AT A diSS god 1 Bsar v meh g1 3mgd

SdTS A &I IR &1 37.5% g1 I a9 T oo I HiT «1S & e &, ar gar @
& T%hel AT SITAT|

A. 1764 T B. 441 gara# C. 2401 Tar@#T  D. 1225 q@@# E. 587 & &Is Tgl|

31, 3TIc T &G 3R 3TN IR 3: 1% AT H & | T37 AT TR 20 AT & 3 T Y 7S 317 hr
oISTS @ 50% e & | A T TsTS AT AT

A. 12 I B. 15 3#T C. 10 @+ D. 20 @AY E. 25 @#T

32. 84 9FY IR & ISR TSl & Teh AfoTel T sha? fhar T & 3R erser i ofars ik Aiss 4 - 3
o 37791 H &1 40 UG U1y a7 FY hr e F B THRTA hl AT 51840 TUA | TeT T feveied 5ol 82

A. 280 B. 300 C. 240 D. 350 E. 320

33. U A Y FarS 3R SIS 5: 4 & IHeTUIT H §| 3T T ofelTS 48 QAT kY FelTS aTel e hr feideh
FATS & STeX & 31T 3ment oSy 88 Ay | 3 1 3Tl (TR H) FATE?

A. 2250 B. 1800 C. 2040 D. 2000 E. 348 ¥ FIg 151

34. fUhaH A T Ueh 31 A% 21 JHT BT 3N 15 A TS o 31 FAelsT @ ler o1l &, AW
S AT T 3T (8T AT H) FATE?

A. 11260 B. 13860 C. 13420 D. 14280 E. 12960




35. TogATATH I Ueh HAATHR AMNE T el & THYSS Tellol & foT AIST SATAT &1 el 3T 3ATA 770

graA 3R TR efie T Hrad 308 T &1 T TogAITA Hr e 70 4F gfy ot G g A
cheT ST SITH FT &2
A. 3.5 @& B. 10.5 @Y C. 5 a#Y D. 7 ¥ E. 348 ¥ HIg 151

36. T T H Teh SRR TR 3N AFAThR MY B g T Fu18 61 HIeX & 3R Selellehy $19T hr
TS 40 HIeY & 3R Tdoq T BT 28 HIeY &1 o T o [T HUS &I el &ABel fohear gl
qIfge?

A. 10450 #? B. 12540 #? C. 10120 #? D. 9750 #? E. 7260 =

37. T I T SIS WSS A [T 8| I $H X & MM ohl &TThel WSS ol sicel T 3 fahar
ST &, At 3T Y qeAY 3R 7 AR o1 31egret = &

A 1:3 B.2:3 C.3:2 D.3:1 E. 98 ¥ FIg el

38. =SS & 6 YT 31U ofeTS dTel Ueh 3T H, Jfeehcld &TIHel ol Teh Jod BIAT(ehel [haT STl g |
Oifehd 3R IR-STATTRT HIIT & o1 T 37X 126 TN AT ¢ | TTT AT IR FAT8?

A. 64 BT B. 52 @Y C. 68 T D. 74 &+ E. 8 & FIg 61|

39. UF GHUGHS & TR & T T & 200v3 T HX &1 FHUAJHS & alal T3 GarT afsd
=gaT 10T 60 T3 & | S92 & TRT 30T 3mer HieT S=i HIAT Sefel hY oeT T graft afe wiet st Hiex
AT TTe T AT 148 TUA BI?

A. Rs. 5140 B. Rs. 8088 C. Rs. 5920 D. Rs. 11508 E. 3dH & HIs il

40. 5 #HIY &1 FUTS HT Teh o7 FUTAS 8 FHeX T ATl Teh HeAThR Sl é?%ﬂfrmﬁrtrﬁﬁ@gm%,
I & Rufas gaeR dieg & S MY arel 9eT &1 Hal HIAT § | TR diarg & TR Sl DISHT
G ercl EAT o [T aTel 74T T &1 el AT |

A. 4 (64+V41)&? B. 2(256+V39)#? C. 16(16+V41)#> D. 4(32+V39)d* E. 548 & HI1S ATl
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41. UF JTATPR o I BSAT Uk AFaHR EF Y o F 3 Hex FA §1 54 T #Hiex ufa a3 31k 66 o7
#HieX 9fd Aehs T &T A HHA: TelelhR Eoh H 3R AR Eoh H AT 81 & Terw foram I ol qog
LT 297 BH3 3R 144 AF3 §| T ToTTThR o FI FaTS AFATHR Eh T FATS F FHATT ¢ ad Tedh &b
&1 a1 AT hIifere?

A. 315 #r B. 63 #Hr C. 525 #r D. 42 #r E. 38 & &5 gl

42. U ol Y 48 BHT ST dTel Teh ot 3 3ifohcT foham 1T &1 391 & AW #1791 T &Tthel AT HITST ST
god GaRT Heldel o181 &7

A. 465.715 @& B. 439.715 &> C. 493.715 @& D. 433.715 @& E. 38 & IS 50|

43. 10 Q#T FUTg 3R 14 YA ITH T Teh O UTe] [HelsT TAEear SITem g 3] 3 : 4 (ATET) o 36791 # 10
QAT S7TS aTel &Y A FATT ST 8 | g el IR S1e & AT aTathel H Ticdrd aRaclet Far gem?

A. 40% B. 45% C. 55% D. 50% E. 398 & &g ar|

44. T P F &FhA Uh A & &Fhe #1213 a $F1 § 3R I dr g gfaerd
HHRIOT 2p* — 43p + 221 =0 &I HIT el & 3R T 0 FPeger &1 MR 17 @A &1 IS
Teh gt T o QU 1T eyt & Fa1$ & s g, ar gef Hr IR a7 grame?

A. 36 @AY B. 40 9+ C. 44 @AY D. 48 Q& E. 398 & g agi|

45. u% H FeAr 10 QA §1 A% & IHYSS FT 8B AR AFH & FFYUT Y56 & &Thel H e
4 : 5. % HT RS a1 & Il @l |

A. 30 G B. 40 &Y C. 35 @& D. 42 g+ E. 25 @#r

46. TH Uk FHKIUT ST & A & §| TG 3H FHPIOT IS 1 e (HeX #H) A AR
quiteh 8] o 38 9eh # 25 & Gid FeT HIeT T aT @ Fol & siaf el I o9 TAST?

A. Rs. 150 B. Rs. 125 C. Rs. 300 D. Rs. 250

E. FuiRa a8 fFar s geear

47. TS JeaThR TS HT &F%hoT 5544 T @A §1 I T 1 fqepol alellpR 3@s & THear &
ISR § Al G971 1 Tl 3R JedlehR TS FI &Thel o s IR fAshrel?

A. 4662 TETAHET  B. 1764 @@ C. 3780 g@r@#r D. 882 TET@Hr  E. SR ¥ FIs Al




48. 30 de1 12 fe=AT # 300 #HeX wfe 3 400 HIeX TS Teh HAATRR Vel I SIATS T Hehel & | Teh qaMNBR
& T Siclet o TeTT 30 it b foheTel T o1a1aT STfeh GaMTehIX &1 hY 37T AR &1 o faentl o
e &?

A. 20 days B. 25 days C. 30 days D. 25.75 days E. 348 & &5 gl

49. 147 3R 22 AT T ATl Ueh A T SAThel Teh Il o &TThel & SRS ¢ | ATE Fool T T Teh
3T BT 3T A 50% e & il o T &1t FATel hifoTT?

A. 1568 J#Y? B. 1548 J#? C. 1268 a#Y? D. 1248 a#? E. 348 ¥ HIg 151

50. 3 Hex 24 T I 3R 8 HieX 28 BT TS LY U SRIT ST dTel JaH 92 HTTIT FaThR Told Y
HEIAT AT L?

A. 198 B. 204 C. 207 D. 184 E. 398 & FIs g
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CORRECT ANSWERS:

1 A 11 B 21 C 31 B 41 B
2 D 12 D 22 B 32 B 42 C
3 B 13 D 23 B 33 D 43 D
4 C 14 C 24 B 34 B 44 D
5 C 15 D 25 B 35 D 45 B
6 C 16 B 26 B 36 C 46 A
7 B 17 B 27 A 37 C 47 A
8 D 18 A 28 D 38 C 438 B
9 B 19 E 29 A 39 C 49 A
10 A 20 C 30 A 40 C 50 C
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Explanations:

1. Let the length of the rectangle = 4 units
And breadth of the rectangle = 3 units
Then diagonal of the rectangle = V(4? + 3%) = 5 units

According to the question, the length of a rectangle is increased by 25% and the breadth is reduced by
33.33%

New length = 125% of 4 units = 5 units
New breadth = 66.66% of 3 units = 2 units
In the new rectangle, New diagonal= V(5% +2%)=v29 = approximately 5.38 units

100
Change = (5.38 - 5) x = - 7.6%

Hence, option A is correct.

2. Area of square = 256 cm?, Side of square =16 cm
Area of rectangle=1xb
Length=16x1.5=24 cm
Breadth=16x1.2=19.2cm
Area of rectangle = 460.8 cm?

5
Reqd. ratio=——= 5

Hence, option D is correct.

3. Area of square = 225 cm?
Side of square =v225 =15cm
Perimeter of square =15 x 4 =60 cm
So, perimeter of rectangle =2 x 60 =120 cm
2(2(x+3)+2(x+1))=120
2x+6+2x+2=60
4x+ 8 =60
4x =52
x=13
So, length of rectangle =2 (13 +3)=32cm
And, breadth of rectangle =2 (13 + 1) =28 cm
Therefore, area of rectangle = 32 x 28 = 896 cm”
Hence, option B is correct.




Let the radius of inner circle =R
Circumference of Inner circle = 2nR
Radius of larger circle = R
Circumference of larger circle = 21t (tR)

As both of them complete 1 round in same time, the ratio of their speeds will be equal to the ratio of
their distance travelled.

ﬁ_Zn(nR)
Sq  2mR
Sp_22
Sq 7

When both of them run on the larger track the difference in their distance travelled will be (22 -7) =
15 units.

15 units = 75m
lunit =5m

P completes one round. So 1 round = 22units
Total distance =22 x5 =110m

Hence, option C is correct.

According to the question,

Let the radius of the circle be r cm.

So, the length of the rectangle = 1.25 r cm and the breadth of the rectangle = 0.90r cm
Given that,

nr’ —1.25rx 0.90 r = 394.94

3.14r* — 1.125r> = 394.94

2. 394.94
2.015

r’ =196

r=14

length=1.25x14=17.5cm
breadth=0.90x 14 =12.6 cm
Perimeter of rectangle = 2(17.5 + 12.6) = 60.2 cm

Hence, option C is correct.




6. Let the radius of the circle = k
22
Area=616=7xkxk9 k=14 cm

Area of rectangle=126=LxB=14xB->B=9cm
Perimeter=2x(L+B)=2x(14+9) =46 cm
Hence, option Cis correct.

1.
50 m
47 m
1.5m § §
Dimensions of rectangle inside the track =47m (50 — 2 x 1.5) and 32m (35 -2 x 1.5)
Area of track = area of park — area of rectangle inside the track
= (50 x 35 =47 x 32) = (1750 — 1504) = 246m°
246 x 125
Cost of laying bricks at the rate of Rs 125 per 10m?’= ET— = Rs. 3075
Hence, option B is correct.
8. Let the length and breadth of park be ‘15x’ cm and ‘8x’ cm respectively,

So, (15x)% + (8x)* = 682
225x% + 64x° = 4624
289x° = 4624

_4624

X2
289

16

X=4

So, the length and breadth of the park is 60 m and 32 m, respectively
Cost of fencing =12 x 2 x (60 + 32) = Rs.2208

Cost of sodding = 2 x 60 x 32 = Rs.3840

Required difference = 3840 — 2208 = Rs.1632

Hence, option D is correct.




10.

Let the side of square be ‘s’ cm

So, length of rectangle = 1.4s cm
And, breadth of rectangle = 0.8s cm
According to the question,

2(1.4s + 0.8s) + 45 =210

4.4s +4s =210

8.4s =210

210 _
5—8.4—25cm

So, length of rectangle = 1.4 x 25 =35 cm
And, breadth of rectangle = 0.8 x 25 =20 cm

So, diagonal of rectangle = V352 4+ 202 =+/1625 =5v65 cm

So option B is the correct answer.

Let the length and breadth of the rectangle be 7a cm and 3a cm respectively.
Perimeter of rectangle =2 (7a + 3a)
X=20a

Radius of circle

1
length of rectangle 2

N |

L
7a
According to question

=>2nr—20a=8
22 7a
=>2x—x—-=20a=8
7 2

= 22a—-20a=8

= 2a=8

=>a=4

Length of the rectangle =7 x4 = 28cm
Hence, option A is correct.




11.

12.

A =
D C

1250
Length = L; Width = B; Area = 1250; L= 5

Assume that the side CD in the figure is fenced by his home wall.

So, the total 100 meter wire is used to fence sides AC, AB & BD
AC+ AB +BD =100

AC=BD=B

AB=L

(2xB)+L=100
1250

2B+——=100
B

On solving, we get, B = 25 and L = 50 respectively
Therefore, L =50 and B = 25 meters

Hence, option B is correct.

Area of square =9 sqg. cm so side of the square = root of 9 sq. cm = 3 cm = Radius of the metallic right
circular cone

From the question, height of the cone will become 100% more than 1.5 =3 cm

Let x number of cones are melted to form a solid sphere

1
Then x x 5 nir’h = volume of cone
4 5
= volume of the sphere = 3 T

1 4
Xx§xpix9x3=§xpix6x6x6

By solving this, x = 32

Hence, option D is correct.




13.

14.

We know that,

. . ., v3a’
Area of an equilateral triangle of side ‘a’ = 2

V3a?

= 36V3 =
36V3 2

=a’=144
=>a=12m
We know that,

V3
Height of an equilateral triangle = Ta

x 12

V3
= Height of the equilateral triangle = =6V3m

. Height of the equilateral triangle = 6Vv3 m
Hence, option D is correct.
Let the width of the rectangle = x cm

Then, 300% of x =51

100
=51x——=17
x=51x 300 cm

Perimeter of the rectangle = 2(length + width) =2 x (51 + 17) = 136 cm

Perimeter of the square = (136 + 8) = 144 cm

144
The sides of the square = i 36 cm

The area of the square field without street = (36)% sg. cm = 1296 sq. cm

The area of the square field with street = (36 + 20) sg. cm = 3136 sg. cm

The area of the street =3136 — 1296 = 1840 sg. cm

The total cost of constructing the street = 1840 BIx 25 = Rs. 46,000

Hence, option Cis correct.




15.

16.

17.

Let the length and breadth of the field is 3x and x respectively.

Area of the field = % = 1452 m?

So, (3x x x) = 1452

x> =484

x=22

Therefore, the length of the field =3x =66 m

And the breadth of the field =x=22m

Required cost =2 x (66 + 22) x 11 = Rs. 1936
Hence, option D is correct.

The area of rectangle =1xb =14 x12 =168 sq. cm

The area of square = 168 + 28 = 196 sq. cm
The side of square = square root of 196 = 14 cm

22
The reqd. area = mr’ = — x7x7=154sq.cm

Hence, option B is correct.

100
The side of the square = i 25cm

The area of the square =25 x 25 =625sg. m

x 625

3
The area of the rectangle = =375sg.cm

Let the length of the rectangle = 3x and breadth of the rectangle = 166.67% of 3x = 5x then perimeter =

2(1 +b)
And area = 375 = 3x x 5x
Xx=5cm

Perimeter = 2(3x + 5x) = 16x =80 cm

Hence, option B is correct.




18.

19.

20.

21.

The number of square tiles required
_ area of the rectangle
area of one square

80 x 60
4 x4

=15 x 20 = 300 tiles

The price of one tile =Rs. 15
Therefore, the price of 300 tiles = 15 x 300 = Rs. 4500

Hence, option A is correct.

Let the radius of the circle = r cm the length of the rectangle = 2r cm
According to the question, area of the circle = A = nr’=3x2rx11

22
7xr=2><3><11

r=21cm
The perimeter of the rectangle =2(l +b)=2(21x2 + 11) = 106 cm
Hence, option E is correct.

The total surface area of the cuboid =2(Ixb+bxh+hx)=2(15%x20+20x 18 + 18 x 15) =2 x (300 +
360 +270) =2 x 930 = 1860 sq. m

The cuboid is made of metal of negligible thickness then outer surface area = inner surface area

The required answer =2 x 1860 x 5 = 18600 paisa = Rs. 186
Hence, option Cis correct.

Sides of the square = 120 cm and 180 cm respectively [ As the perimeter is given we get it by dividing
the perimeter by 4]

The difference between the area of squares = (180 +120) x (180 — 120) = 300 x 60
= area of the rectangular field

The area of a rectangular field = length x breadth = 60 x length = 300 x 60
Length of the rectangle =300 cm
The perimeter of the rectangle = 2(length + breadth) = 2(300 + 60) = 720 cm

The total cost of putting a fence around it = 720 x 5 = Rs. 3600

Hence, option Cis correct.




22.

23.

24.

The boundary meets perpendicularly the opposite side it means it the perpendicular distance between
the opposite sides.

The area of a parallelogram = base x perpendicular distance between the opposite sides = 15 x 16 =
240sg. m

The total money required = 240 x 15 = Rs. 3600

Hence, option B is correct.

The volume of the pizza = ir® x thickness

22
== x 10.5 x 10.5 x 4 = 1386 cm°

The volume of small slice of pizza
2

=360

x thickness

_(22/7 x 21 x 21 x 4 x 30)
- 4 % 360

22 x3x21
=T= 115.5 cm?

The volume of the remaining part =1386 —115.5=1270.5 cm?®

Hence, option B is correct.

Let Radius = r then Circumference = 2riir cm and height = (2ir — 15) cm
Curved surface area = 2rirh = 2mr x (2mr — 15) = 154
By solving, r=3.5cm

. 22 7
Circumference of the base = 2rntr cm = 2 x El X 3 =22cm
Height =22 -15=7cm

22 7 7

The volume =mr’ h = > x 3 x 5 x 7 =269.5cm’

Hence, option B is correct.




25.

26.

The length of longest pole that can be placed on the floor of room is nothing but the diagonal of the
rectangle

Therefore, by Pythagorean theorem,

(3x)* + (4x)* = 252

Where 3x is the length of the room and 5x is the breadth of the room
9%* + 16x° = 25x° = 625

By solving, x =5 cm

The area of the floor of the room =3x x4x =12 x5 x5 =300 sqg.cm
The total cost of cementing the floor of the room =5 x 300 = Rs. 1500

Hence, option B is correct.

Let Height of cylinder = h'

Volume of cylinder = rr’h
2
h
Volume of cone = %

nr?h + rirlh

=2190
3 n

1
10%h' + 10% x ?5 =2190

h=16.9cm

. 169 _ 169
Reqd. ratio = 1c -> 150

Hence, option B is correct.
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27.

28.

Let, breadth and length of rectangle = 4x and 5x

Area of Square = 24x

Area of Rectangle = 20X°

Side of Square = v24X

Perimeter of Square = 4 x V24X

Ratio of Area of Rectangle & Perimeter of Squareis 15: 1

_ 0%t 15
T4xv24X 1

Squaring both sides,

_, _400x* 225
T 16x24X 1
=x3=216
X=6

Length of Rectangle = 5X = 30

Hence, option A is correct.

For a triangle, Sum of two sides is always greater than third side.
Let the third side of the triangle be C

If sum of two side is 25

~ 0 < C< 25 holds true for range of C.

C cannot be zero and cannot be more than 25

Perimeter of triangle

= 25 < (perimeter of triangle) < 50

Cost of fencing at Rs 15 per meter will lie between 375 — 750

Hence, option D Rs 800 cannot be the cost of fencing




29. Letthe length and the breadth of the rectangle be | and b respectively

4(1+b)> 98
Then, S T+ b))~ 25
P+b%+21lb 49
Then, = b9 =35
= 50 x | x b = 24(1*+b?)
= 12°-25xIxb+12b*=0

But | can't be less than b

wIiH

L
‘o

4
(|+b)_(§b+b)_
(I-b) /4 B

(30-b)

Hence correct option is A.

Reqd ratio = 7:1

30. Area of Circle = A = r?

2,
616 = ==
7 %"

=r?=196
=>r=14

Now, breadth of rectangle is half the radius of circle.
14
Breadth of Rectangle = 3 °

Perimeter of Rectangle =2 (L + B)

3
Length of Rectangle(L) = 3 x2(L+7)

4L=3L+21

L=21

Side of Square =2 x21=42
Area of Square =42 x 42 =1764
Hence, option A is correct.




31.

32.

2(10 + b)

Let the sides of rectangle are a and b.
ab =3x

2(a+b)=x

Perimeter of Square is 20.

Side of Square =5

Length of Rectangle = 10

Now,

Take the ratio of area and perimeter

10b 3
1

10b =60 + 6b
4b = 60
b=15

Hence, option B is correct.

Let the length = 4k and breadth = 3k

Perimeter of the tile = (4k + 3k) x 2 =84

k=6
Length = 24cm and Breadth = 18cm

Let there be N tiles

Cost of polishing = N x 24 x 18 x (40/100) = 51840

N = 51840 x 100/(24 x 18 x 40) = 300

Hence, option B is correct.




33.

34.

35.

36.

2nr = 88
r=14cm
h =48cm

Slant height = V(48%+ 14%) =50 cm
So, length =50 cm - breadth =40 cm
Area of the rectangle = 50 x 40 = 2000 cm”

Hence, option D is correct.

Volume of remaining portion

1 2
=nr’h —5 x 1ireh = 5 x 1ir’h

2 22
=§x7x21x21x15=13860cm3

Hence, option B is correct.

Rate =70p
308
Area of the aluminum sheet = 07 =440
2nirh = 440
2

nr h =770

. 7
Solving we get, r = 5

2r=7cm

Hence, option D is correct.

Height of the cone = 61 —40 = 21 m and radius of cone =28 m

So, Slant height of cone = vV(21% +28%) =35 m

22
Total surface area = 2nrh + nurl = El x 28 x (2 x 40 + 35) = 10120 m*

Hence, option Cis correct.




37.

38.

39.

Let, Length = L and Breadth = B. Then, L= 2B
Area =L xB=2BxB =28’
Perimeter=2 (L+ B)=2(2B + B) =6B

Area is halved without changing the breadth, means only Length has been changed. Let new Length is
L.

1
Now, L' x B => (2B%) = B* which means L’ = B.
New Length is B.

New perimeter would be 2 (L' + B) =2 (B + B) =4B
Ratio of older to newer perimeter of the rectangle =6B:4B=3:2.

Hence, option Cis correct.

L=B+6

2
Difference between areas=LxB—T1t (g) =126

1182
B+6)xB-—
(B+6)xB-—n

=126

Solving we getB=14and L=20
Perimeter of the rectangle =2 x (14 + 20) = 68 cm

Hence, option Cis correct.

Given, area of a rhombus shaped garden = 200V3 square meter and the acute angle formed by the two
sides of the rhombus is 60 degree

We know that,

Area of rhombus with side length ‘@’ and acute angle 8 formed by sides=a xaxsin 9
200vV3 =a x a xsin 60

On solving, we get, a = 20 metres
Perimeter =4 x side=80m

Since the boundary is half meter high. Thus, area of boundary = 0.5 x 80 = 40
The cost of making boundary per square meter = Rs. 148

Therefore, the cost of making a half meter high boundary around the garden if the cost of making
boundary per square meter be Rs. 148 = 40 x 148 = Rs. 5920
Hence, option C is correct.




40.

41.

Height of pyramid = 5 meters

So, for each triangle of pyramid, height = 5 meters

=—=4 meters

Base
2

N |00

Slant height = (52 + 4%)Y? =\/41 meters

So, required surface area =4 x 8% +4 x 0.5 x 8 x V41 = 256 + 16V41 = 16 (16 + V41) m*

Hence, option Cis correct.

Let, the height of each tank = ‘h’ m

And, let the radius of the cylindrical tank = ‘r' m

The, the radius of the conical tank = (r + 3) m
Volume of the cylindrical tank = 54 x 297 = 16038 m?

22
So, =X r2 x h = 16038

16038 x 7
S0, h= 22 xr?

Volume of the conical tank = 66 x 144 = 9504 m>

9504 x 21
So,h=———"=
N X (r+3)

, 16038x7 _ 9504 x21
" 22xrt T 22x(r+3)

So, 9 x (r+3)2=16r2=9 x (r* + 6r + 9) = 16r°
=9r’ + 54r + 81 = 16r°

=7r’-54r—-81=0

=7r2-63r+9r—-81=0
=7r(r—=9)+9(r-9)=0

=(7r+9)(r-9)=0

=r=9

16038 x 7 _

So, height of the tank = X - 63m

Hence, option B is correct.




42.

43.

48 cm

48 cm 48 cm

48 cm

Radius of the circle = 4—28 =24cm

Area of the remaining part = area of the square — area of the circle
22

= (48)2—7x 24x24

=2304 —-1810.285

= 493.715 cm’

Hence, option C is correct.

Volume of the cylinder = mt x (7)* x 10 = 490mt
> Volume of cone 1 + Volume of cone 2 = 490n
= 210m + 280m = 490m (~* Volume of both cones are in the ratio 3 : 4)

-~ Base area of cone 1 + Base area of cone 2 = 3(21)mt + 3(28)n = 147n

1
[ gnrz h=210m = r’=3(21)

= Base area of cone 1 = nr> = 3(21)m and similarly for cone 2]
Flat surface area of cylinder = 2 x [1(7)?] = 981

1471t —98n

-~ Percentage change in area = ———— x 100 = 50%

98n

Hence, option (D) is correct.
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44,

45.

Quadratic equation is
2p?—43p+221=0

= 2p°—26p—17p+221=0
=2p(p—-13)-17(p—-13)=0

=(p-13)x(2p-17)=0

~ The sides of rectangle are 8.5 & 13 cm
And the area of rectangle = 8.5 x 13 = 110.5 cm?
~ The area of triangle = 12/13" of 110.5 = 102 cm?

Base of the triangle = 17cm
1
= 3 x 17 x h =102

=>h=12cm
=~ Perimeter of the square =4 x 12 = 48cm

Hence, option D is correct.

Radius =10 cm

Curved surface area = rl total surface area = mur(l + r)

wl 4
nwr(l+r) 5

|
(I+10)

CEES

=40 cm

Hence, option B is correct.




46.

47.

48.

49.

In a right-angled triangle PQR, PQ? + QR? = PR?
The possible values of PQ, QR, and PR are 3, 4, and 5

1xb height 3 x4
X asezx eight _ ; cem?

The area of the triangle =

The cost of sowing flowers seeds in the park at the rate of Rs. 25 per sq. m =25 x 6 = Rs. 150

Hence, option A is correct.

Area of the circular plot = A = itr® = 5544, r* = 42?

Radius of the circle = 42 cm = diagonal of the square

Area of the square = (diagonal of the square)? + 2 = (42)* + 2 = 882 sq. cm
The required difference = 5544 — 882 = 4662 sq. cm

Hence, option A is correct.

The area of the rectangular field = | x b = 300 x 400 = 120000 sg. meters

And the diagonal of the rectangular field = V3002 + 4002 = 500 m = sides of the square

Area of the square = 500 x 500 = 250000 sg. m

30 oxen take 12 days to plough 120000 sg. meters area

30 oxen will take one day to plough 120000/12 = 10000 sq. meters area

30 oxen will take 250000/10000 = 25 days to plough 250000 sq. meters area

Hence, option B is correct.

Area of the circle = itr® = area of the rectangle=1xb

22
=14x22=7xr2,

by solving r = 7V2 cm,the diameter of the circle = 2 x 7V2 cm = 14Vv2 cm = 50% less than the sides of a
square
. 100
Sides of the square = 14v2 cm x =0 - 28V2 cm,
Area of the square = sides” = (28V2 cm)? = 1568 cm?
Hence, option A is correct.




50. HCFof324 and 828 =36
HCF = 36 = sides of the largest square

area of the floor
area of the square

The number of slabs reqd. =

324x828

= 23 =207 sl
36 %36 9 x 23 = 207 slabs

Hence, option Cis correct.
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